global

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
EFG 1	3	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$408.00
2	2	EVE8CP18	Skipped Option 18" - Flexible Mesh Jumper Cable, Used to Connect 2 Power Distrubution Housings Separated by Post	\$ 156.00	\$312.00
3	1	EVE8FR1	Skipped Option 72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
4	3	EVE8PD24	Skipped Option 24", Power Distribution Housing	\$ 163.00	\$489.00
5	3	EVE8PD48	Skipped Option 48", Power Distribution Housing	\$ 257.00	\$771.00
6	3	EVE8RD1	Skipped Option #1 Utility Circuit, Duplex Receptacle, Black	\$ 36.00	\$108.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
7	3	EVE8RD2	#2 Utility Circuit, Duplex Receptacle, Black	\$ 36.00	\$108.00
8	3	EVE8RDA	Skipped Option A, Dedicated Circuit, Duplex Receptacle, Black	\$ 36.00	\$108.00
9	3	EVE8RDB	Skipped Option B, Dedicated Circuit, Duplex Receptacle, Black	\$ 36.00	\$108.00
10	3	EVHC18L	Skipped Option 18", Left, Single Cantilever	\$ 110.00	\$330.00
11	3	EVHC18R	<ul> <li>STD Standard Paint Colors</li> <li>Skipped Option</li> <li>Skipped Option</li> </ul> 18", Right, Single Cantilever	\$ 110.00	\$330.00
			<ul><li>Standard Paint Colors</li><li>Skipped Option</li><li>Skipped Option</li></ul>		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
12	4	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$124.00
			~STD Standard Paint Colors Skipped Option Skipped Option		
13	6	EVHFB1	Flat bracket (Available in Black Only)	\$ 21.00	\$126.00
			Skipped Option		
14	6	EVHLPBB01	1.5"h x 8"w x 1"d, Laminate Gallery Panel Bottom Connecting Bracket, Connectors 2 Laminate End Panels at Bottom w/Screws, Hardware Included	\$ 47.00	\$282.00
			~STD Standard Paint Colors Skipped Option Skipped Option		
15	5	EVHPB1	Pedestal Bracket	\$ 36.00	\$180.00
			<ul><li>STD Standard Paint Colors</li><li> Skipped Option</li><li> Skipped Option</li></ul>		
16	6	EVHWSC46	46"w x 5"d, Worksurface Support Channel, Use with 60"w Surface, Channel Should be 14" Shorter Than Top, Screws Included, Black Only	\$ 86.00	\$516.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
17	2	EVLEPDC4275	42"h x 75"w, Laminate Gallery Panel Double Sided Connector Middle, w/Base Power Electrical Cutout, Attaches Inbetween 2 Panels, Both Ends Connect to a Laminate Extention Panel, Connecting "U" Channel & Connecting Hardware not Included		0 \$2,220.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
18	1	EVLEPDS4275	42"h x 75"w, Laminate Gallery Panel Double Sided Connector End, Both Ends Connect to a Laminate Extention Panel, Starts & Ends a Run, Connecting "U" Channel & Connecting Hardware not Included	\$ 1,110.00	0 \$1,110.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
19	3	EVLXPML4236NC	42"h x 36"w, Left, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel or 1 End, Other Side is Finished & Does not Connect, Connecting Hardware not Included		\$1,506.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
20	3	EVLXPMR4236NC	42"h x 36"w, Right, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel or 1 End, Other Side is Finished & Does not Connect, Connecting Hardware not Included	φ 302.00	\$1,506.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
21	1	EVPERA42	42"h, End of Run Post, Includes Post, Hardware & Aluminum Trim	\$ 102.00	\$102.00

~STD Standard Paint Colors



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~STD	Connectors w/ Matching Inlines (Use w/ Matching Horizontal	Reveal)	
				Skipped Option		
				Skipped Option		
22	5	EVPERCH42	Attaches t	Channel Connector w/Pass Thru for Power at Base, to Laminate Gallery End or Middle Panel, 1 Required d 2 Required in Middle	\$ 172.00	\$860.00
			~STD	Standard Paint Options		
			~STD	Inline Connectors (Use w/ Matching Horizontal Reveal)		
				Skipped Option		
				Skipped Option		
23	3	EVPFAM4224	42"h x 24"	w, Monolithic Fabric Acoustic Panel	\$ 389.00	\$1,167.00
24	3	EVPFAM4248	STR ~STD ~STD  ~GR1 01  ~GR1 11   <b>42"h x 48"</b>	(STD) Panel Top Cap Standard Paint Options Panels w/ Matching Horizontal Reveal Skipped Option Panel Grade 1 Outside Position 1 Skipped Option Grade 1 Fabrics Inside Position 1 Skipped Option Skipped Option	\$ 572.00	\$1,716.00
27	J		STR ~STD ~STD  ~GR1	(STD) Panel Top Cap Standard Paint Options Panels w/ Matching Horizontal Reveal Skipped Option Panel Grade 1	<i>Ф</i> 572.00	ψ1,710.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			01	Outside Position 1		
				Skipped Option		
			~GR1	Grade 1 Fabrics		
			11	Inside Position 1		
				Skipped Option		
				Skipped Option		
25	3	EVPIC42	42"h, Inlin Trim	e Panel Connector, Includes Post & Hardware, No	\$ 86.00	\$258.00
			~STD	Standard Paint Options		
			~STD	Inline Connectors (Use w/ Matching Horizontal Reveal)		
				Skipped Option		
				Skipped Option		
26	3	EVPMP24GI6PU		v, Square Privacy Glass, Integrated Channel for Use w/U Channel and Gallery Panel on One Side	\$ 324.00	\$972.00
			~STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
27	12	EVPMP36GI6W		v, Square Privacy Glass, Integrated Channel for Use with 1" Laminate End Panels & Gallery	\$ 335.00	\$4,020.00
			~STD	Standard Paint Colors		
				Skipped Option		
			CLR	Clear		
				Skipped Option		
28	1	EVPMP48GI6P		v, Panel Mount Privacy Glass, Integrated Channel with Aluminum Top Trim for Square Glass	\$ 359.00	\$359.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~STD	Standard Paint Colors		
				Skipped Option		
			CLR	Clear		
				Skipped Option		
29	2	EVPMP48GI6PU		v, Square Privacy Glass, Integrated Channel for Use w/U Channel and Gallery Panel on One Side	\$ 395.00	\$790.00
			~STD	Standard Paint Colors		
				Skipped Option		
			CLR	Clear		
				Skipped Option		
30	1	EVS1218BBF		w x 27.75"h, B/B/F Pedestal, Freestanding or ice Supporting, 1200 Series	\$ 720.00	\$720.00
			~STD  	Standard Paint Colors Skipped Option Skipped Option		
31	5	EVS1224BBF		w x 27.75"h, B/B/F Pedestal, Freestanding or ace Supporting, 1200 Series	\$ 728.00	\$3,640.00
			~STD 	Standard Paint Colors Skipped Option Skipped Option		
32	6	EVS1224FF		w x 27.75"h, F/F Pedestal, Freestanding or ace Supporting, 1200 Series	\$ 728.00	\$4,368.00
			~STD  	Standard Paint Colors Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
33	6	EVWS2448P	24"d x 48"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 274.00	\$1,644.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
34	6	EVWS2472P	24"d x 72"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 394.00	\$2,364.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAS SUBTOTAL: \$ 33,989.00		

TOTAL EXTENDED LIST:

\$33,989.00